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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3922667201 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
Spiritual Guru of Chatrapati Shivaji Maharaj is
1. Samardha Ramdas
Bhakta Tukaram

3. Chanakya

]

]

4. Sadguru Pratap Singh

i
3
%
L .:‘-
I

S 3
P Y ~
Options :
1.v 1
2.% 2
3.% 3
4. % 4

Question Number : 2 Question Id : 3922667202 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify incorrect sentence regarding Indian National anthem

L. First published in “Tatwa bodhini® magazine

I

Translated into English *“Morning Song of India’

3 Music composed by Tagore with Bhimsen Joshi
4, Officially announced on 24-1-1950
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Options :
1. %1
2.% 2
3.¢¥3
4. % 4

Question Number : 3 Question Id : 3922667203 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Find correct matching of players and games

(1) Mirabai Chanu (a)  Tennis

(11)  Smiriti mandhana (b)  Weight lifting
(111)  Ankita Raina (c) Chess

(iv)  Dronavalli Harika (d)  Cricket
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5 i-c,ii-b,ii-d,iv-a
4. i-c,ii-a,ii-b,iv-d
Options :
1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 4 Question Id : 3922667204 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Indian National Congress was started in the year
Ay b 2 F s Py

L. 1881

2. 1885

3. 1895

4. 1897

Options :
1. % 1
2.9 2
3. % 3
4. % 4

Question Number : 5 Question Id : 3922667205 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Programming language present in 5™ Generation
Computers 1s

Jedi& B Bt 2 Ly 4

n‘:

I, FORTRAN -1

2 MAT LAB

3, SQL: Structured Query Language
4. Artificial Intelligence Languages

Options :
1. % 1
2. % 2
3. % 3
4.9 4

Question Number : 6 Question Id : 3922667206 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct matching regarding words with game

(1) Home run (a)  Golf

(1)  Bride (b)  Chess
(1) Raider (c)  Base ball
(iv) Castle (d)  Kabaddi
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1. i-a,il=¢,iii-d,iv-b
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4, 1-c,ii-d,iii-b,iv-a
Options :
1. % 1
2.¥2
3.% 3
4. % 4

Question Number : 7 Question Id : 3922667207 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Correct pair among the following

1. Ganitha Sara Sangraham — Pavuluri Mallanna
2 Malavikagni Mitramu — Viswanatha Satyanarayana
3. Veyi Padagalu — C. Narayana Reddy

4. Satyartha Prakasam — Sharva Varma
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Options :
1.v1
2. % 2
3.% 3
4, % 4

Question Number : 8 Question Id : 3922667208 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct combination of award and field

(1) Santhi Swaroop Bhatnagar (a)  Literature

(11)  Raman Maga Say Say (b)  Science,
Technology

(111)  Gnanapeeth (c) Cineme

(iv)  Golden Globe (d)  Social Work
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1. i-a,ili-b,ili-c,iv-d
2. i-c,ii-b,1ii-a,iv-d
3. i-b,ii-d,lii-a,1v-¢
4. 1-a,li-c,li-b,iv-d
Options :
1. % 1
2. % 2
3.¢3
4. % 4

Question Number : 9 Question Id : 3922667209 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



I ect answ ardine constitutional ¢ S
Find correct answer regarding constitutional amendments
(1) 58" amendment (a) Establishment of

panchayat institutions

(ii) 73 amendment (b) Formation of Jharkhand
(iii)  84™ amendment (c)  Hindi as official language
(iv) 86" amendment (d)  Free and compulsory

education for 6-14 age

children
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3. 1-b,ii-d,lii-c,iv-a
4. 1-c,ii-b,11i-d,iv-a
Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 10 Question Id : 3922667210 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct matching

(1) Calcium hydroxide (a)  water gas
(i1)  Sodium chloride (b)  wetlime
(111)  Carbon monoxide (¢c)  laughing gas
(iv)  Nitrous oxide (d)  common salt
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Options :
1. % 1
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3.% 3
4. 4

Question Number : 11 Question Id : 3922667211 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer regarding 2025 Padma awards

(1) Komudini Lokhia (a) Padma Bhushan
(i1)  Nalli Kuppu swami chetti (b)  Padma Vibhushan
(111)  Bhimavva Doddabalappa (c¢)  Padmashri
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Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 12 Question Id : 3922667212 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer regarding musicians and instruments

(1) Anushka Sankar (a) Flute
(i)  Swapan Chowdary (b)  Violin
(111)  Hari Prasad Chaurasia (c) Sitar

(1v)  Dwaram Ramaswami Naidu (d) Tabla
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1. 1-c,ii-d,1ii-a,iv-b
2 i-c,ii-b,1i-a,iv-d
3 1-b,1i-a,ni-d,iv-c
4. 1-a,ii-b,1i-d,iv-c

Options :
1.1
2.% 2
3.%3
4. % 4

Question Number : 13 Question Id : 3922667213 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The place which is the confluence of three oceans where the
sunrise and the sunset are seen from the same location is

1. Kanyakumari
2 Mumbai
3. Chennai

4. Car Nikobar
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1.v 1
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Question Number : 14 Question Id : 3922667214 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose incorrect matching

1. Burrakatha — Shaik Nazeer
2 Classical Music — Mangalampalle Bala Murali
3 Bharata Natyam — Vempati China Satyam

4. Harikatha — Adibhatla Narayana dasu
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1. %1
2. % 2
3.¥3
4, % 4

Question Number : 15 Question Id : 3922667215 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Pradhan Mantri Rashtriya Bal Puraskar — 2024 winners under
child Bravery category is

= Sindhoora Raja — Rishik Kumar

2. Sourav Kumar — Loanna Thapa
. Henbati Nag — Anish Sarkar
4. Keya Hatkar — Ayaan Sajad
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Options :
1. %1
2.2
3.%3
4. % 4

Question Number : 16 Question Id : 3922667216 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Bharata Ratna recipient among the following

L. Azim Premji

I

Manish Sisodia

.

. N.R. Narayana Murthy
4. J.R.D. Tata
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Options :
1. %1
2. % 2
3.% 3
4.9 4

Question Number : 17 Question Id : 3922667217 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Karl Marx : Das Capital :
1. Les Miserables

o

Waterloo

fad

Changiz Khan

4. Mein Kampf

Options :
1. % 1
2.% 2
3.%3
4.9 4

Question Number : 18 Question Id :
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks :
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The Indian Constitution was adopted by the Constituent
Assembly on

: 26" November 1949

2 26" December 1949
3. 26" January 1951
4., 26" January 1952
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Options :
1.¥ 1
2.% 2
3.% 3
4.% 4

Question Number : 19 Question Id : 3922667219 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Miss World Sports — 2025 winner

e l_Ux'I—?6 Miss World Sports — 2025

l. Emmd Morisan
2 Areli Jochim
3 Elis Randma
4, Julia Morle
Options :
1. % ]

2. %2



3.¢3
4. % 4

Question Number : 20 Question Id : 3922667220 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Name of the board room established by BCCI in Mumbai on
the name of Sachin Tendulkar is

e
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. S-100
2. SRT- 100
3. BCCI- 100
4. TS-100

Options :

1.% 1

2.9 2

3.%3

4. % 4

Section 2

Section Id : 392266228
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266228
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3922667221 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



“We are currently facing a learning crisis. There are five crore
children who cannot even write. read and performs basic
mathe matical operations™ These are the words of

ka;iﬂﬁgi:fg_ﬁg_?iJiJJf Gl s WL’KI_,”}J"’—-—!—-#L-"J Ffuf
BL Y- E S L

1. NEP - 1968

NEP - 1986

UNICEF

NEP - 2020

b b

P

Options :
1. %1
2. % 2
3.%3
4.9 4

Question Number : 22 Question Id : 3922667222 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The reason for re-designating MHRD as the Ministry of
Education

I. to form a new ministry

2. to focus more on education and learning
3. to get more funds from [.M.F.

4. to avoid objections from CAG
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Question Number : 23 Question Id : 3922667223 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A 10-year old boy was identified as an out — of — school boy.
As per RTE — 20009, the boy can be admitted in this class
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Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 24 Question Id : 3922667224 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

As per RPWD Act 2016 (Right of Persons with Disabilities),
number of disabilities covered i1s

™

< UWUCS U mien § 7 21 (60 210sdo») 2016251 RPWD
. 18

2 19
3. 28
4. 21

Options :
1. % 1

2. % 2



3.%3
4.9 4

Question Number : 25 Question Id : 3922667225 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The objectives of National Child Labour Project is to
1) Withdraw children from hazardous occupations.
1) Provide skill training,

i) Provide rehabilitation.

vi)  Provide membership in self help groups.
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1. % 1
2.% 2
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Question Number : 26 Question Id : 3922667226 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



One of the following is NOT a part of Adolescent Education
1. Providing age appropriate information on growth

2. Developing life skills

3. To instill dependence
4. To develop healthy attitudes
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Options :
1.% 1
2. %2
3.3
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Question Number : 27 Question Id : 3922667227 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

"Construction of Knowledge’ is related to
& NEP - 1986

2 NCF - 2005
3. Mudaliyar Commission
4. Janardan Reddy Commission
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Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 28 Question Id : 3922667228 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The first report to recommend Pre-primary education to all
children of age group 3 to 6

1. Sadler Commission Report
2 Sargent Report
3. Elphinstone report
4. Hartag Committee report
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Options :
1. %1
2.9
3.% 3
4. % 4

Question Number : 29 Question Id : 3922667229 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The national organization that examines trends in teacher
education around the world and promotes trends that are
relevant to our country is
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Options :
1. % 1
2.% 2
3.% 3
4. 4

Question Number : 30 Question Id : 3922667230 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The concept *Education in work and Education through work’
was used by this committee

1. University Education Committee
2 Secondary Education Commission
: Dr. Malcom Adiseshaiah Committee
4. Ishwart Bhai Patel Committee
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2.% 2

3.% 3
4.9 4
Section 3

Section Id : 392266229
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 5
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266229
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 3922667231 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The primary factors for Individual differences are

1. Environment and A ptitudes
2. Heridity and Interest
4§ Heridity and Environment
4. Environment and Intelligence
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Question Number : 32 Question Id : 3922667232 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In order to provide natural learning conditions in a school, the activities
assigned to students by a teacher should not be

i Thought Provoking
2. Above the level of students
5 Challenging
4. Based on previous experiences
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Options :
1. %1
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3.% 3
4. % 4

Question Number : 33 Question Id : 3922667233 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Pyscho-social crisis faced by school age children

i Industry Vs Inferiority

2. Trust Vs Mistrust
5 Autonomy Vs doubt
4. Intimacy Vs Isolation
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Options :
1.¥ 1
2. %2
3.% 3
4.% 4

Question Number : 34 Question Id : 3922667234 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Paired associative test 1s used to assess

1. Memory

Z, Attitude

£ 7 Aptitude

+. Creativity
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Options :

1.¥ 1



2. % 2
3.% 3
4, % 4

Question Number : 35 Question Id : 3922667235 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Intelligence Quotient of slow learners
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Options :

1. % 1

2.9 2
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Question Number : 36 Question Id : 3922667236 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The type of learning in which students take responsibility for individual
work and also for group work

1. Individual learning
2. Inquiry based learning
% F Co-operative learning
4. Discovery learning
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Question Number : 37 Question Id : 3922667237 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The test in which personality is assessed by making a person to tell
a story to meaningless stimuli and analyzing it

1. Rorschach Ink Blot Test

2. Rating Scale
3. Minnesota Multiphasic Personality Inventory
4. Thematic Apperception Test
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Options :
1. % 1
2.% 2
3.% 3
4. 4

Question Number : 38 Question Id : 3922667238 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

As per Thorndike’s Law of effect

| 1 Students should be given homework.
2. Students should be motivated.
3. Students should be given achievable assignment.
4. Relearning is to be done by students
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3.¥3
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Question Number : 39 Question Id : 3922667239 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This is related to Scholastic Aptitude Test
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I Teaching A ptitude Test

2. Minnesota Manipulation Test
i Minnesota Clerical Test
4. Differential Aptitude Test
Options :
1. %1
2.% 2
3.% 3
4.¥ 4

Question Number : 40 Question Id : 3922667240 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify important factors of reasoning

a Logical thinking
b. Problem solving
o Fantasy
d. Decision making
:f_;f:l:"uéiﬁu'!fr‘ﬁiv!uﬁl
x“’:ﬁ:,-r’jbﬁ .a
JEhks b
(Fantasy) J5— | ~ .G
e d
1. a,b,c
2 c,D
e a, b, d
4. B, c.d

Options :



1. =1

2.% 2

3.3

4. % 4

Section 4

Section Id : 392266230
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 80
Number of Questions to be attempted : 80

Section Marks : 40
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266230
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3922667241 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. % 1

2.2

3.% 3

4. % 4

Question Number : 42 Question Id : 3922667242 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 43 Question Id : 3922667243 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.¥ 1
2.% 2
3.% 3
4. % 4

Question Number : 44 Question Id : 3922667244 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 45 Question Id : 3922667245 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 46 Question Id : 3922667246 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 47 Question Id : 3922667247 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.% 1
2.9 2
3.%3
4. % 4

Question Number : 48 Question Id : 3922667248 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.v1
2.% 2
3.% 3
4. % 4

Question Number : 49 Question Id : 3922667249 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 50 Question Id : 3922667250 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.% 3
4. ¥ 4
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Question Number : 51 Question Id : 3922667251 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. % 1

2. % 2

3. % 3

4.9 4

b |

La

Question Number : 52 Question Id : 3922667252 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.¥ 1
2.% 2
3.% 3
4. % 4

Question Number : 53 Question Id : 3922667253 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2. % 2
3.3
4, % 4

Question Number : 54 Question Id : 3922667254 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



(s

H 'ILI
o
<
Lsd

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 55 Question Id : 3922667255 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 56 Question Id : 3922667256 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



-i_,:-"’ ../r..'vpujdv 1
SIF =S 2
= &
Foolba 3
LE 4
Options :
1.9 1
2.% 2
3.% 3
4, % 4

Question Number : 57 Question Id : 3922667257 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.9 1
2. % 2
3.% 3
4, % 4

Question Number : 58 Question Id : 3922667258 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 59 Question Id : 3922667259 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2. % 2
3.3
4. % 4

Question Number : 60 Question Id : 3922667260 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.% 2
3.¢3
4. % 4

Question Number : 61 Question Id : 3922667261 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.% 3
4.9 4



Question Number : 62 Question Id : 3922667262 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.9 1
2. % 2
3.% 3
4, % 4

Question Number : 63 Question Id : 3922667263 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

LP;’E HL“U“[{I'JL‘-’-:;:IJF#J-

J'."Uillaf": .1
&AF 2
- 3 |
& A 2
Pl 4
Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 64 Question Id : 3922667264 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.9 2
3.% 3
4, % 4

Question Number : 65 Question Id : 3922667265 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.¥ 1
2.% 2
3.% 3
4. % 4

Question Number : 66 Question Id : 3922667266 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 67 Question Id : 3922667267 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2. % 2
3.3
4, % 4

Question Number : 68 Question Id : 3922667268 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 69 Question Id : 3922667269 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.9 1
2.% 2
3.% 3
4. % 4

Question Number : 70 Question Id : 3922667270 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.% 3
4. 4

Question Number : 71 Question Id : 3922667271 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. % 1

2.% 2

3.% 3

4.9 4

Question Number : 72 Question Id : 3922667272 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 73 Question Id : 3922667273 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. % 1
2.%2
3.3
4.% 4

Question Number : 74 Question Id : 3922667274 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Options :
1. % 1
2. %2
3.% 3
4.9 4

Question Number : 75 Question Id :
Display Question Number : Yes
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3922667275 Question Type : MCQ Option Shuffling : No

Correct Marks : 0.5 Wrong Marks : 0

Options :
1. %1
2.9 2
3.% 3
4. % 4
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Question Number : 76 Question Id : 3922667276 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. % 1
2. % 2
3.°3
4. % 4

Question Number : 77 Question Id : 3922667277 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 78 Question Id : 3922667278 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.% 2
3.% 3
4.9 4

Question Number : 79 Question Id : 3922667279 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1.% 1
2.% 2
3.3
4. % 4

Question Number : 80 Question Id : 3922667280 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.% 1
2.9 2
3.% 3
4. % 4

Question Number : 81 Question Id : 3922667281 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.9 1
2.% 2
3.% 3
4. % 4

Question Number : 82 Question Id : 3922667282 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.v 1
2.% 2
3.% 3
4. % 4

Question Number : 83 Question Id : 3922667283 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2. %2
3.¢¥3
4. % 4



Question Number : 84 Question Id : 3922667284 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. %1
2.9 2
3.%3
4. % 4

Question Number : 85 Question Id : 3922667285 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 86 Question Id : 3922667286 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 87 Question Id : 3922667287 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options

1.v 1
2. % 2
3.% 3
4. % 4

Question Number : 88 Question Id : 3922667288 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 89 Question Id : 3922667289 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. % 1
2. % 2
3.% 3
4.9 4

Question Number : 90 Question Id : 3922667290 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. %1
2.9 2
3.%3
4. % 4

Question Number : 91 Question Id : 3922667291 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2. % 2
3.% 3
4.9 4

Question Number : 92 Question Id : 3922667292 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.% 1
2.% 2
3.3
4. % 4

Question Number : 93 Question Id : 3922667293 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.% 1
2.9 2
3.% 3
4. % 4

Question Number : 94 Question Id : 3922667294 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1.¥ 1
2.% 2
3.% 3
4. % 4

Question Number : 95 Question Id : 3922667295 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 96 Question Id : 3922667296 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. % 1
2.% 2
3.3
4. % 4

Question Number : 97 Question Id : 3922667297 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 98 Question Id : 3922667298 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. % 1
2. % 2
3.% 3
4.9 4

Question Number : 99 Question Id : 3922667299 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 100 Question Id : 3922667300 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 101 Question Id : 3922667301 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 102 Question Id : 3922667302 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
.1
2.% 2
3.% 3
4, % 4

Question Number : 103 Question Id : 3922667303 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2. % 2
3.3
4. % 4

Question Number : 104 Question Id : 3922667304 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



S
Options :

1. % 1

2.% 2

3.% 3

4.9 4

Question Number : 105 Question Id : 3922667305 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 106 Question Id : 3922667306 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 107 Question Id : 3922667307 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 108 Question Id : 3922667308 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.2
3.% 3
4. % 4

Question Number : 109 Question Id : 3922667309 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.¥ 1
2.% 2
3.% 3
4. % 4

Question Number : 110 Question Id : 3922667310 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 111 Question Id : 3922667311 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

o Fastmeir S ok
S e SRS p o 0 S

I

“
= 2
188 b* 3
,'::"_';..fgl.: 4
Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 112 Question Id : 3922667312 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 113 Question Id : 3922667313 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
,;_L:*LJ»H/ Jzns st sz (U NS EJL«LJ"’ P A0
JES

YN

2
JF 35
g A
Options :

1.¥ 1

2.% 2

3.%3

4. % 4

Question Number : 114 Question Id : 3922667314 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 115 Question Id : 3922667315 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 116 Question Id : 3922667316 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.¥ 1
2.% 2
3.% 3
4. % 4

Question Number : 117 Question Id : 3922667317 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.9 2
3.% 3
4, % 4

Question Number : 118 Question Id : 3922667318 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.% 2
3.%3
4.9 4

Question Number : 119 Question Id : 3922667319 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. %1

2.% 2

3.%3

4.9 4

Question Number : 120 Question Id : 3922667320 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.2
3.% 3
4. % 4
Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Question Number : 121 Question Id : 3922667321 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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1
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2. %2
3.% 3
4, % 4

Question Number : 122 Question Id : 3922667322 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.¥1
2.% 2
3.% 3
4. % 4

Question Number : 123 Question Id : 3922667323 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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1. % 1
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3. % 3
4. % 4

Question Number : 124 Question Id : 3922667324 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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4, % 4

Question Number : 125 Question Id : 3922667325 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 126 Question Id : 3922667326 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



:;‘...K.;_'.,'lu'l._r.f“r.:..u|)frﬂfgE’;‘EJ!E’J;M&JHJ@P“
bl oty L1

it S

Options :
1.v 1
2. % 2
3.% 3
4. % 4

Question Number : 127 Question Id : 3922667327 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1.¥1

2.% 2

3.% 3

4. % 4

Question Number : 128 Question Id : 3922667328 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 129 Question Id : 3922667329 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. % 1

2.% 2

3.3

4. % 4

Question Number : 130 Question Id : 3922667330 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



-
\
L

; “ i ool T o e . %
FKL!/_.-'(:.-- lLFL.r'”'L-FL-‘bJ*F_'L’:E"LJhJIJP:U"CJL"‘a-"""‘nlh:kf

3 2500 .1
+3 1500 2
32000 .3
3 3000 .4

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 131 Question Id : 3922667331 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2. %2
3.% 3
4.9 4

Question Number : 132 Question Id : 3922667332 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 133 Question Id : 3922667333 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.92
3.% 3
4. % 4

Question Number : 134 Question Id : 3922667334 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
)
3.9 3
4. % 4

Question Number : 135 Question Id : 3922667335 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2. % 2
3.¥3
4. % 4

Question Number : 136 Question Id : 3922667336 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.9 1
2. % 2
3.% 3
4, % 4

Question Number : 137 Question Id : 3922667337 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. % 1
2.9 2
3.% 3
4, % 4

Question Number : 138 Question Id : 3922667338 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.% 2
3.%3
4.9 4

Question Number : 139 Question Id : 3922667339 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.% 1
2.% 2
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4. % 4

Question Number : 140 Question Id : 3922667340 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. % 1
2.% 2
3.% 3
4.¥ 4

Question Number : 141 Question Id : 3922667341 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

L
J -5

r . e - P e (W - * -'-’ il .1 P .
B g (LI i UFT 15 L S J10 2200004

e i
a"__glk-‘u?bf_-.flljbf_.ﬂ."

1

-2
[e—Y
L

Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 142 Question Id : 3922667342 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.¥ 1
2. % 2
3. %3
4.% 4

Question Number : 143 Question Id : 3922667343 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.% 3
4. 4

Question Number : 144 Question Id : 3922667344 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 145 Question Id : 3922667345 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2. %2
3. % 3
4.9 4

Question Number : 146 Question Id : 3922667346 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 147 Question Id : 3922667347 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 148 Question Id : 3922667348 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.¥ 1
2. %2
3.% 3
4. % 4

Question Number : 149 Question Id : 3922667349 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
3.3
4. % 4

Question Number : 150 Question Id : 3922667350 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



..."(!:f-r;_”- 0 32 (24 :.--':JJ}..Q 5L ,.-u’H""
Bl ]

e b2dasn 2

e bl 3

e b=l 4

Options :

1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 151 Question Id : 3922667351 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 152 Question Id : 3922667352 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2. % 2
3.% 3
4.9 4

Question Number : 153 Question Id : 3922667353 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1.¥ 1

2.% 2

3.% 3

4. % 4

Question Number : 154 Question Id : 3922667354 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.% 2
3.°3
4. % 4

Question Number : 155 Question Id : 3922667355 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.% 1
2.9 2
3.%3
4. % 4

Question Number : 156 Question Id : 3922667356 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1.v 1
2. %2
3.% 3
4. % 4

Question Number : 157 Question Id : 3922667357 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
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4.¥ 4

Question Number : 158 Question Id : 3922667358 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 159 Question Id : 3922667359 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.¥ 1
2.% 2
3.% 3
4. % 4

Question Number : 160 Question Id : 3922667360 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2.9 2
3.% 3
4. % 4



